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Rel & Func Ls 1 - Intro to Graphing

Given a graph, describe the situation

Sketch a graph given a situation

Interpreting Graphs

What story does this graph tell? What could give this graph more meaning?
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Interpreting Graphs - Solution

Epcen Water Consumption in Edmonton During Olympic Gold Medal Hockey Game
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Source: Epcor

A graph can be a
great way to represent
data but requires good
details (title, labels,
scale, legend, etc.) to
tell the whole story.

Graphing Stories

Websites to help practice Graphing Stories

Graphing Stories

http://www.graphingstories.com/

Function Carnival

https://teacher.desmos.com/carnival
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Matching - Graphs & Scenarios

Graph A Graph B Graph C Graph D

1) the temperature of a
cup of hot chocolate over
time

2) a car accelerating to 3) the distance a person 4) the height of a soccer
a constant speed walks during a hike ball kicked across a field

Practice

6.1 pg. 115: 1 (Sketch instead of describe), 3ab, 9

Solutions on board to #1 Really good question!

Quick Check: Complete the two questions on the Graphing Stories Assignment

Mark together on the next page and hand in.
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Question #1 Solution

Josaphee's distance
d & from home does not
change while
she is at the store,
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M10C Graphing Stories Assignment

There is no change in Josaphee's distance from home
while she is visiting her frignd. This line segment is
longer than the segment when Josaphee was at the store
to show that she spent more time at her friend’s house.

- -
— losaphee runs
f faster than she
jogs, so this line is

—
steeper. She covers
more distance
in lass time.

I L \ \ | o

|
\.\ 1 L
Josaphee walks to the store at

a constant pace. Her distance
from home steadily increases.

Time(min)

3
Josaphee is jogging at a constant rate.This line
segment is steeper than when she was walking
because she jogs faster than she walks.

Question #2 Solution

Samuel's Bicycle Ride

M10C Graphing Stories Assignment

24 Segment  Journey
A B OA Samuel’s speed increases from 0 to 20 km/h, so the
ot J l segment goes up to the right,
= ] l AB Samuel cycles at approximately 20 km/h for 30 min.
é- & |' || His speed does not change, so the segment is
j r L horizontal,
O 2 ‘ BC Samuel'’s speed decreases to 5 km/h, so the segment
E.’::_ - J goes down to the right.
L%
= l GD Samuel cycles uphill at approximately 5 kmy/h for
C D 10 min. His speed does not change, so the segment is
4 horizontal.
E 'L F DE Samuel slows down to 0 km/h, so his speed decreases
- - and the segment goes down to the right.
o 10 | 20 | 30|40 | 50 | &0
. iy EE Samuel remains stopped at 0 km/h for 10 min, so the
il
il 'TH'HT’ segment is horizontal.
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